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The Cut-Off Adjective 
 
 

 

 

 

 

 

  
  

The  ��	���  (adjective) may be cut off from the     ��	������  
(noun being described) by changing its case-ending.  

 

 

This is done by either:  

 

 

A) Assuming a  ��	�	�����  or 
 

B) Assuming a ������ . 

 
 

 

 

 

 

 

 

 

 

�������
 
 

Lesson 3 
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A) Assuming a ��	�	�����    

 

Example of an assumed  ��	�	�����  : 

 

 

	  �!�����"#�#$#�	���
 
	��%�&�
���
 '(�).  
 
 

‘aT”im haadhaa l-walad-a l-miskiin-u.  
 

 

 

 

 

Here, '�%�&�
��
(�)   is    ����	��������	�   (a cut-off adjective) 

because it is the   �*	�	+  of an assumed mubtada'  which is  � 	� . 
i.e.: 
 

 
 

 

 

 

	  �!�����"#�#$#�	���
 
	� )	�� ('�%�&�
���
 (�).  
 

 
 
 

 

 

 

 

‘Feed this boy, the poor one.’ 
 

 

�*	�	.��
 
 

‘Feed this boy, (he is) the poor one.’ 

 

assumed  

�	�	����� 
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B) Assuming a ������  

 

The assumed ������  is one of the following three:  
 

 

1)   �/	���#� : ‘I praise’,  or 

 

 

2)  �0#�12     : ‘I condemn’, or  

 
 

3)   3���4#� :  ‘I mean.’ 

 
 

 

Example of the assumed verb, �/	���#�   ‘I praise’: 
 
 

 

 

 

 
 

��56��
 	7��#0 	8	9	��:6$�
 �;�3.  
 
 

 

 

 

 

najaHa dhaalika l-Taalib-u l-dhakiyy-a.  
 

 

‘That student passed, the intelligent one.’ 
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Here, 
6$��;�3   is   ����	��������	�    (a cut-off adjective) because 

it is the maf”uul bihi of the assumed verb ��#��/	�  i.e.: 
 
 

 

 

 �:��56��
 	7��#0 	8	9	�)��#��/	�(6$�
 �;�3.  
 

 

 

 
 

 

 

 
 

 

 

‘That student passed, (I praise) the intelligent one.’ 
 

 
 

Example of the assumed verb #��012   ‘I condemn’: 
 

 

�=�*�
 	7��#0 >#?	4 ���
6?	@ 5	���A�#%	��
����
 	*.  
 

 

maa sallamtu “alaa dhaalika l-rajul-i l-mutakabbir-a.  
 

 

‘I did not give salaam to that man, the proud one’. 
 

 

assumed  

����� 
 


�B	
���C�D �E���  
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Here   A�#%	��
��
	*  is    ����	���	������   (a cut-off adjective) because 

it is the maf”uul bihi of the assumed verb   �0#�12    i.e.:   
 

 

�
6?	@ 5	��=�*�
 	7��#0 >#?	4 ���� )�0#�12(A�#%	��
��
 	*.  
 
 

 

 

 
 

 

 

 

‘I did not give salaam to that man, (I condemn) the 
proud one.’ 

 

 
 

 

 

 

 

 

In the above two examples, the assumed    ������ might also be  
3���4#� ‘I mean’. i.e.: 
 
 

 
 
 
 
 

 

    	8	9	� �:��56��
 	7��#0)F#�3���4(6$�
 �;�3.  
 
 
 
 
 

 
 
 
 

 
 
 
 

 
 
 

�
6?	@ 5	��=�*�
 	7��#0 >#?	4 ���� )#�3���4(A�#%	��
��
 	*.  
 

‘That student passed, (I mean) the intelligent one.’ 

‘I did not give salaam to that man, (I mean) the proud one.’ 

 

 assumed  

����� 
 

�B	
��
�C�D �E���  
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Ibn Maalik - G
 �C	
�H	I�  - says in his Alfiyyah:  

 
 
 

�J#��I
K #��K
 L*�
�M�� 	���#�#N �OP �:�Q��
  
����(	�	���R5	� �K#� S�(#� S5(�) 	T(
	*	U�V  

 

 

This line is from the baab of �������
. 
 
 
 
 
 

He says:   

 

 

If you cut off (the na”t ), render it marfuu” or manSuub  

by assuming ( �
�M��
L* ) a mubtada' or a naaSib (verb),  
and these two will never appear. 

 
 
 
 
 

Here:  
 
 

 
 
 
 

 

 �M��
L*�
                     is �E#5H .  It means: ‘assuming, hiding’, 
 
 
 

 ����S�	�	�                        is its �C�D �E���B	�  , 
 
 
 

��R5	�S5                         is  ��	��W��� ,  
 

 
 

�)#�
	*	U��V	T  
  

means that the assumed elements - mubtada ‘ 
or fi”l,  are never to be mentioned (in the 
original statement).  
 

From the Alfiyyah 

DrVaniya.com 



 7 

 

Wisdom in Cutting off the ����	� 
 

Now this cutting off of the    ����	� is done to draw the attention 
of the listener who will not pay any attention to it if the ����	� 
follows the case-ending of the   �����	��� .   
 
 
 
 

 

But when it is in a different case-ending, it will immediately 

draw his attention to it. 

 

 
 
 
 

Example from the Glorious Qur’aan 
 

A very good example of ��	
��
 �������
�����  - the cut-off 
adjective - is in suurah al-Masad in the following two aayahs : 
 

 
 

 

 

 

 
 

 

 

 

 

 

 
 

 

 

 

 

 �C�X#�	*��
	K#Y#�5�
	H��
 �:#�	�   Z�	&	� �)�� ����	H 5	 ��'�= 3��[  \ * 
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)[�()��X#*	��ا                                           is ������	�	�    
 
 

 Z�	&	� �)�� ����	H 5	 ��'�= 3��                is its    �*	�	+   
 

 

#Y#�5�
	H��
 �:#�	�                                      is ����	���	� �����   

 

#Y#�5�
	H                                                   is the  �B	��C�D �E���        

 

 
 

 

 

 

 

 

 

 

 
 

 

 

 �C�X#�	*��
	K) 12�0#� /3���4#�( #Y#�5�
	H��
 �:#�	�  
 

 

 

of the assumed fi”l : 
 
 

 

 
 

�0#�12   

�P�_
	*�4	T`
 �)�'	�  

 

 

or   .3���4#�   

       And the assumed fi”l   �0#�12  
       rendering it manSuub : 
 

is the  �:�R5	� for  #Y#�5�
	H 

 

 

or   3���4#�   
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Lesson Summary 

 

�������	
����
 �������
 
 
 

  

The na”t  may be cut off from the man”uut  by 
changing its case-ending, either by: 
 

Assuming a  �	�	�����   or �����. 
 

 

 

 

The assumed �����  is one of these three: 
 

 

 

 

Its wisdom is to draw the listener’s attention. 

 

suurah al-Masad  has a very good example. 

�/	���#� #�12�0  3���4#� 2. 
 

3. 1. 
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